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2.74 x 60% = 3.33 x20% =
7.15 x 50% = 6.76 x 10% =
7.49 x 80% = 6.88 x 40% =
6.43 x 80% = 6.33 x 80% =
8.5 x10% = 9.1 x90% =

6.5 X 50% = 6.35 x 30% =
8.77 x 50% = 8.96 X 90% =
9.58 x 80% = 2.7 x70% =

5.16 x 20% = 8.61 x 50% =
3.38 x 10% = 0.71 x 60% =
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2.74 x 60% = 1.644

7.15 x50% = 3.575

7.49 x 80% = 5.992

6.43 x 80% = 5.144

8.5 x10% = 0.85

6.5 X 50% = 3.25

8.77 x 50% = 4.385

9.58 x 80% = 7.664

5.16 x20% = 1.032

3.38 x 10% = 0.338
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3.33 x20% = 0.666

6.76 x 10% = 0.676

6.88 x 40% = 2.752

6.33 x 80% = 5.064

9.1 x90% = 8.19

6.35 x 30% = 1.905

8.96 < 90% = 8.064

2.7x70% = 1.89

8.61 x 50% = 4.305

0.71 x 60% = 0.426
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